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Accounting & Bookkeeping

1. The following were the transactions of Tom for the month September, 2021:
T G Tom * 2021 # 9 B ch & FC

2021

Sept. 1 Purchased 75 units of goods from North Company at RM 30
each, less 20% trade discount.

€ North 2> P g 75 E B & fF&* H=f £ 5 RM30>
w3 20%:7 F47de o

Sept. 3 Purchased 100 units of goods from South Company at RM 22
each.

j€_South 2> @ pL§ 100 ¥ =7 53 &=& H = £ 5 RM 22
Sept. 8 Sold 10 units of goods to John at RM 65 per unit, less 8% trade
discount.

& H 8% RM65 8 10 8 =7 &% John, 4 8%
B EATde -

Sept. 10 | Sold 6 units of goods to Tan at RM 70 each, less 5% trade
discount.

MEHFELH RMT70 08 6H P 5% Tan, B2 5%
¥374e

Sept. 19 | Sold 30 units of goods to Chen at RM 63 per unit, less 10% trade
discount.

& H = 8% RM63 41 & 30 = F 5% Chen, B2 10%:
B E 4T -

Sept. 22 | Purchased 50 units of goods from North Company at RM 32, less
20% trade discount.

J€ North > P PR S0 8 i=f & B & H = £ 5 RM32>
w3 20%:7 F47de o

Sept. 23 | Sold 20 units of goods to East Shop at RM 60.

& H =8 RM60 41 & 20 B =7 &% East i i o

Sept. 30 | Sold 4 units of goods to Ma at RM 75.

MEHELE RMT75 M8 48 2F 5% Mao

What is the total amount of Purchases Journal for the month of September, 20217
2021 & 91 SRR L ATE 50

A) RM 6,050

B) RM 5,280

C) RM4,198

D) RM 1,082
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Lam Company's RM 300 Petty Cash Book has cash of RM56 in the beginning of
October, 2021, and the petty cashier requested for reimbursement of RM 244.
However, the total amount of expenses paid by petty cash is RM 240. The journal
entry to replenish the account would include a
Lam = 7% 3 2 4% 5 RM300 0% * &% > %2021 # 10 ? 4= > 32 % *
MEET M ERMS6 FIpt B % £ g 4 & RI 23] RM244 1% 5 P48 2 4
LRH E2 0 o Rm o B - R AEL TG RIE S RM 240 ¢ R
W RH E2 g 7
A) debit to Cash Over and Short for RM 4

e &4 5 RM4
B) debit to Cash for RM 300

i3s3 £ RM 300
C) credit to Petty Cash for RM 240

E? 3k * £ RM 240
D) credit to Cash for RM 240

F3sIh £ RM 240

An aging of a company's accounts receivable indicates that RM 21,000 are
estimated to be uncollectible at the end of December, 2021. If Allowance for
Doubtful Debts has a RM 6,000 debit balance, the adjustment to record bad debts
for the period will require a
2021 # 12 % K> R o @ fifctR GRS A 715 0 5 F RM 21,000 1%
ToME 2R 2 e > BAeiE 2 P2 KRR P B S 2 4 RM 6,000 0 137
SF Y FAcP SR ER
A) debit to Bad Debt Expense to record the increase in Allowance for Doubtful
Debts for RM 21,000
BeIRHE F F o e sk R I 5 4e RM 21,000
B) debit to Bad Debt Expense to record the increase in Allowance for Doubtful
Debts for RM 27,000
2o HE -?F,*‘f oo ek R bR B 3 3 4 RM 27,000
C) debit to Bad Debt Expense to record increase in Allowance for Doubtful
Debts for RM 15,000
2o HE -?F,*‘f oo ek R bR B 3 3 4 RM 15,000
D) credit to Allowance for Doubtful Debts for RM 6,000
B &t E % RM 6,000
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A company reported the following balances at September 30, 2021:
Eo@m2021 #9730 p Ty AR T

Sales Revenue & f 4z » RM 38,500
Sales Returns and Allowances 41" i3 w & 373R 1,640
Sales Discounts 41" f 474 500
Cost of Goods Sold & f = # 15,500

Net sales for the month is § ? £ 4 { %f 5

A) RM 38,500

B) RM 38,000

C) RM 36,360

D) RM 20,860

On 1 February, 2021, the Summer Store opened a fixed deposit account with an
amount of RM 20,000 in a bank. Interest earned was 3% per annum, the bank pays
interest quarterly on every 1 January, 1 April, 1 July, and 1 October. Summer
Store’s financial year ended on 31 December. What will be the correct entry related
to interest on 31 December, 20217
2021 #20 1P R AP RN EHGEE T - B 2 34k~ 3 » RM20,000
FEfFFEEL 3% o REFESFHL-FFLPE12 1P ~47 1957
P1RE 100 1P o RAPANEFERSEP S 127 310 c TR E
B>t 2021 & 12 7 31 p 2L A&y it 2 0 fren ?
A) Debit Interest Income and credit Cash for the amount of RM 400
Hrflifer > B4 > £%8 5 RM400
B) Debit Accrued Interest Income and credit Accounts Receivable for the
amount of RM 550
Hresrefl e > Brsicthin > £4F 5 RM 550
C) Debit Accrued Interest Income and credit Interest Income for the amount of
RM 150
Bk tlLior o Fflifor > &35 RM 150
D) Debit Accrued Interest Income and credit Interest Income for the amount of
RM 550
Bkl > Feflidjer » £3 5 RM550

An advertising firm received RM 275,000 cash for advertising services to be
provided in the future. The full amount was credited to the liability account
Unearned Service Revenue. If the advertising services have been performed at the
end of the accounting period and no adjusting entry is made, this would cause

- BRALDTHE SR AR R MR LR TR 2 SR O
& RM 275,000 > 73 & 330t s fORIAC » 1B 2 o ek A g 7B 2 4
PFOGR L7 RERLARBET ARIPAFELSH €8> !

A) expenses to be overstated '}a‘j B

B) net income to be overstated % 4| % i

C) liabilities to be understated f & X
D) revenues to be understated 4T » 4 7

3
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On 31 December, the end of the financial year, a prepaid insurance account balance

before adjustment is RM 71,000, and an unexpired amount of insurance policy is

RM 18,000. What is the proper adjusting entry at 31 December?

B120 31 poTEFERSAP FE T ADERG FF AR S RMT71,0000

2 AT % £% 5 RM 18,000 > AT 5'Jf?ﬁ 50127 31 P2y AEL

& ?

A) Debit Insurance Expense, RM 18,000; Credit Prepaid Insurance, RM 18,000
Hisika 7 % 18,000 5 B 3zif i %% RM 18,000

B) Debit Insurance Expense, RM 71,000; Credit Prepaid Insurance, RM 71,000
Hie ik 7 % RM 71,000 - fzedp i % RM 71,000

C) Debit Prepaid Insurance, RM 53,000; Credit Insurance Expense, RM 53,000
% 3s3 1 %% RM 53,000 » B3z %% 7 * RM 53,000

D) Debit Insurance Expense, RM 53,000; Credit Prepaid Insurance, RM 53,000
B e i § % RM 53,000 0 B33 1 %% RM 53,000

A machine costing RM 184,000 was destroyed when its engine caught fire. At the
date of the fire, the accumulated depreciation on the machine was RM 73,000.
Company received a check for RM 154,000 as insurance compensation, based on
the market value of the same type of machine. The entry to record the insurance
compensation and the disposition of the machine will include a
- o R4 A EF RM 184,000 (i BF5IF A b m dpk > A2V § 2 > 2B R
_mf%' ARSI S RM73,000 0 = & 18 Rje P - k42457 HF R A B o
BHFEEEREHOLE > 235 RM 154,000  jedrst — GRS £ s

WERDLERe 7
A) Loss of RM 30,000

i 4 RM 30,000
B) credit to the Machine account of RM 111,000

B3 ® RM 111,000
C) credit to the Accumulated Depreciation account for RM 73,000

2 2o B 347 & RM 73,000
D) Gain of RM 43,000

4118 RM 43,000

A company purchased equipment for RM 3,600,000. It estimated that the
equipment will have a RM 360,000 residual value at the end of its estimated 5-
year useful life. If the company uses the reducing balance method at 40% per
annum, the amount of annual depreciation recorded for the second year after
purchase would be

EOPMBARFRITRMI60F 0 TR ERRY SE S ESDG R
B RM 360,000 o 3% = 747 53k 40%4ARFE R 2 > RIR G M~ 18 % - &
371 E;y B Y/

A) RM 1,440,000

B) RM 864,000

C) RM 1,296,000

D) RM 921,600
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10. Winter Company paid RM 1,650 on account to a supplier. The transaction was
erroneously recorded as a debit to Cash of RM 165 and a credit to Accounts
Receivable of RM 165. The correcting entry is
)/Z:'\'\’j)sljlﬁ7'il’7%\)sljl—\% RM 1,650 L2 R BT - %4 < 5 Ads3f
s B & RM 165 Fioijatke3t RM 1650 { & A &)k &

A) deblt Accounts Payable RM 1,650 and credit Cash RM 1,650
e R 2 RM 1,650 » B33 £ RM 1,650

B) deblt Accounts Receivable of RM 165, debit Accounts Payable of RM 1,650,
and credit Cash of RM 1,815
e Ytk 2 RM 165 » & 3= & 1tk 4 RM 1,650 > B 3=3R £ RM 1,815

C) debit Accounts Receivable of RM 165 and credit Accounts Payable of RM
165

% 2e B <R 2 RM 165 > 25 i 16 4 RM 165
D) deblt Accounts Receivable of RM 165 and credit Cash of RM 165
¥ 26 By chE F RM 165 0 353 & RM 165
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11. The following is the Autumn Store’s Trial Balance of 31 August, 2021:
TERAMAFE2021 &F 80 31 pER L

Autumn Store
Trial Balance i# % % (31 August, 2021)

Debit Credit

Cash % RM 4,850
Accounts Receivable & Ttk # RM 3,750
Prepaid Insurance 3f i} %% 700
Equipment % #% 12,000
Accounts Payable & & #% 4,600
Unearned Service Revenue ¥f T FRF*jc » 760
Share Capital—Ordinary # i@ %% & 11,800
Service Revenue FRF*JT » 10,740
Salaries and Wages Expense ¥ 7 7 * 6,250
Advertising Expense & % % * 11,000
Utilities Expense -k & 7 * 800

RM 36,100 RM 31,150

The accountant examined the ledger and pointed out that each account has a
normal balance. After preparing the above unbalanced Trial Balance, the
following errors were discovered:

g RRARA SR g PR ARIEIOS IR AREE 0 o R A S G R
BEL@G g3 LR AT FRT AIRAL
(1) A purchase of Inventory of RM 1,450 on credit was not posted to
Accounts Payable Ledger
- & RM 1,450 2 phpis b 2 % & K iBtR 1 i 1 16 204 SR
(2) A credit posting to Share Capital-Ordinary of RM 5,250 was omitted
F AR S RM 5,250 22 % 5 & Ri§He I i A 4 gk
(3) A payment of Accounts Payable of RM 2,750 was not posted to the
Cash Ledger
Bkt AES RM2,750 22 b Adk o & A iBHE D TR & A KR
(4) A credit posting to Equipment of RM 2,000 was omitted
- X H B RM2,000 2 &4 &5 RiETR T 3K & & $pk
Which of the following is incorrect after Autumn Store’s accountant corrected the
errors? Bk R T R e g 3HOF B AR 0 T f?'g EH I FEen?
A) The total balance of corrected Trial Balance is RM 34,600
DR E A S o 2 4% 5 RM 34,600
B) The correct balance of Accounts Payable is RM 3,150
I Fr )i i hE 2o 4R3E 5 RM 3,150
C) The balance of Advertising Expense should be listed on the debit side
R27* pif 7| hdd & i 2 ff =
D) The correct balance of Cash is RM 2,100
R & it FEAREE 5 RM 2,100
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In preparing its bank reconciliation for the month of September, 2021, Spring Inc.
has the following information available.

Balance as per bank statement, 9/30/21 RM 71,580
Deposited checks returned with 9/30/21 bank statement 800
Deposits in transit (Uncredited deposits), 9/30/21 13,000
Outstanding checks (Unpresented checks), 9/30/21 10,400
Bank service charges for September 140
Balance as per cash book, 9/30/21 75,120

What should be the adjusted cash balance at September 30, 20217
THAFHEIEFX 2P 5 HE202 £ 9 2 /EFARASEAATT LT

#2117 $H1E ¥ 437, 9/30/21 RM 71,580
wAFI w2 F 7 LA E 9/30/21 800
tig 3 4%, 9/30/21 13,000
A LI A £, 9/30/21 10,400
B B2 L IR 140
NP I & MR S| AREE, 9/30/21 75,120

DEIE2021 9P 30 p 2 PAEIEATERL 5 ?

A) RM 84,580

B) RM 74,180

C) RM 64,580

D) RM 74,980

Jim and Tom started an accounting firm on 1 January, 2021. Jim paid RM 80,000
and Tom paid RM 120,000 into the new partnership bank account as their capital
contributions, respectively. Tom also made a loan of RM 25,000 to the business.
Jim brought in his personal computer, printer, and furniture with total value of RM
54,500 into the business. Which of the following is incorrect?
Jim fv Tom »>+ 2021 # 1 * 1 p & F 1 - Fé&g“}?ﬂ?iﬁ'% Jim #% » RM
80,000 @ Tom 4% » RM 120,000 i¥ 5 B 3k ¥ #9797 F 2 F 4 - Tom f P¥ i 3¢
RM 25,000 (&t - F 539755 % B i;? oo Jim Bl O~ AT M~ BP A4S
2 RLEE B3 RM 54,500 chf A ko & FaRi * oo FR T 7 e H 7 & FE?
A) On 1 January 2021, the accounting ﬁrm recorded Tom’s capital for the
amount of RM 145,000
2021 & 1 % 1 P > 3% €3 FF Eir97358r Tom ok » F 2835 RM
145,000
B) On 1 January 2021, the accounting firm recorded Jim’s capital for the amount
of RM 134,500
2021 & 1 7 1 p > FHE PRI Jim ol » T AR5 RM
134,500
C) The total non-current liabilities of this accounting firm on 1 January 2021
were RM 25,000
2021 # 1 7 1 p > ZE a2 nd § 3 43 RM 25,000
D) The total assets of this accounting firm on 1 January 2021 were RM 279,500
2021 # 1% 1 p > 3% ¥ 33470F A %3 RM 279,500
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An equipment was purchased for RM 750,000. It had an estimated residual value
of RM 250,000 and an estimated useful life of 10 years. After 5 years of use, the
estimated residual value is revised to RM 120,000 but the estimated useful life is
unchanged. Assuming straight-line depreciation method is used, depreciation
expense in year 6 would be

—KAHHE AL RMT75F R~ pEIER R £905 10 £ > 10 £ RBFE 07
FTABERM2G H o * SESIFRABEAEL RMI2E » ezt &
LR G R BREYEZRZTE NS 6 EDITER Y A

A) RM 100,000

B) RM 76,000
C) RM 51,000
D) RM 63,000

Which of the following statement is FALSE? ™ 7] i# Jﬁ’f Lz

A) The interim dividends are the dividends normally declared during a financial
year before a financial year end and will be paid in the following year.
o un- BELPAEFERDPT (TEFERLELLIT)EE T A
T - E R 2 A

B) Par value per share is the face value of a share originally fixed by a company
and stated in its Memorandum of Association
ARG A T BA LTI A 7R EP 2 RNEL 5 B

C) The preferred shares can be classified into cumulative preferred shares and
non-cumulative preferred shares
e R A I e LS L R

D) The irredeemable preferred shares are not repayable unless the company is
1@Mmd%%2?¢%ﬁ’@ml?@?%ﬁw&{zmﬁﬁ%

A mortgage payable with a fixed interest rate requires the borrower to make

installment payments over the term of the loan. Each installment payment includes

a payment on the principal and interest based on the unpaid balance of the loan.

With each installment payment, indicate how the portion allocated to interest

expense and the portion allocated to principal will change.

PP R EHE RERA LA R PR AP AR A AATHF L

TE - LY FRDF LR ;AP RFRZIAENENAFRAE

B EA @I EFE - AW B A g A e fl Lok

Ve 2 RN g e R

A) Both the portion allocated to interest expense and principal increase. # % -
71]'5@)_?; * L ;{;?Kgﬁg%t

B) The portion allocated to interest expense increases while the portion allocated
to principal decreases. | & 7 * " £ 84 0 A A E P

C) Both the portion allocated to interest expense and principal decrease. # %
FHl g r ant £ g

D) The portion allocated to interest expense decreases while the portion
allocated to principal increases. % % # v 85 > & &L & B 4o

8
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Polar Corporation issued 7,000 ordinary shares of RM 5 par value for RM 23 per
share. This transaction will increase
At P T 7,000 R F R > B GIERM S L F T 5 RM 23
PR E
A) Share Premium—Ordinary by RM 161,000
A fp-d i RE T RM 161,000
B) total equity by RM 35,000
1 7 3% RM 35,000
C) Retained Earnings by RM 126,000
#F F 4 RM 126,000
D) Share Capital-Ordinary by RM 35,000
¥ 3 "% 9% ~ RM 35,000

XYZ Company has issued 11,000 shares of 6% cumulative preference shares ,
RM 50 par value at the beginning of 2018. The preference shares were issued for
RM 57 per share. The company has never paid preference dividends. As of
December 31, 2020, dividends in arrears are

XYZ = @ 2018 & & 4% 7 11,000 "% % ﬁ-%ﬁrﬁa |3 A1 6% 0 = Ko
5 RM50 4 prs g 7 42 5 RMS7 0 3% 2 @ JE A3 2 ix o 4 w1
FRE A I 2020 # 12 7 31 p o Z e o4 TR

A) RMO

B) RM 66,000

C) RM 99,000

D) RM 112,860

i
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19. ABC Shop runs its business with two departments: Department X and Department
Y. The following shows ABC Shop’s information of 2021:
ABCRE R XfrY &S B3R o T 2 ABC R & 2021 £ T3 ¢

Depart. X | Depart. Y Total

X Y B3
Inventory 7+ b, 1/1/2021 RM 2,000 | RM 6,000 | RM 8,000
Sales &1 p fz » 17,250 85,000 102,250
Inventory i+ b, 12/31/2021 3,000 7,000 10,000

ABC Shop also provided the following additional information:
ABC P BV #&ETAFEPF 3¢
(1) The total purchases of ABC shop were RM 65,000 and 75% of the total
purchases was attributable to Department Y.
ABC 7 B 3F 5 RM65,0000 2 4 7 30/ Y B | R 40 75%
(2) Carriage inwards of RM 2,500 were to be shared in the ratio of two
departments’ purchases.
R A5 RM2,500 0 i2pes 0F° pEp vt ) 4 i
(3) During the year, the Department X took goods of cost RM 765 from the
Department Y.
22021 £ E IR X NP Y @A A L RMT765 2 3% B
Which of the following is Correct? ™ 7| # 1 F& ?
A) The total cost of sales of ABC Shop is RM 63,000
ABC 7 JB gl |7 = A %3+ 5 RM 63,000
B) The Department X’s cost of sales is RM 15,110 while the Department Y’s cost
of sales is RM 50,390
P X gl pr= & 2 RM 15,110 @ 38 Y 2 40 = & & RM 50,390
C) The gross profit of Department X is RM 610 and the gross profit of Department
Y is RM 36,140
A Xt 415 RM610> @ 3R Y 2 £ 4] 5 RM 36,140
D) The total gross profit of ABC Shop is RM 34,750
ABC 7 B e 4153+ 5 RM 34,750

10
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On 1 September 2021, ABC Shop sold goods to Ma Store on credit for RM 2,800

and received a one-month note Which of the following is Correct?

2021 #9 7" 1 p >»ABCH %RMZSOOmr; “EMap ko Ffcd- 3%

_fg;agpﬁq%%,ﬁa_ype—r,q, F‘ FQ

A) On 1 September, ABC Shop recorded the sale transaction by debiting to Notes
Receivable-Ma Store and crediting to Sales Revenue for RM 2,800
9% 1p ABCH %o - d o ik ¥k RM 2,800
B4 b » RM 2,800

B) If the note was met on maturity, ABC Shop would record by debiting to Cash
and crediting to Notes Receivable for RM 2,800
F Maf R e L A B ABC B € 5 & RM
2,800 > B3 & & 95 RM 2,800

C) Ifthe note was dishonored on maturity, ABC Shop would record by debiting
to Accounts Receivable-Ma Store for RM 2,800 and crediting to Notes
Receivable for RM 2,800
FMaF b eRpIPFIES > ABC B & s dcte 42 RM 2,800 0 §
e fc & % RM 2,800

D) All of above are correct. 14 F ¥ it Fx

Which of the following statements related to non-profit-making organization is

FALSE?

T RE Y 2E “‘f mlf{ft ’1‘*—%"1}&?

A) The main ob_] ective of non-profit-making organization is to make a profit for
its owners by providing services and facilities, such as social or culture, to its
members

Ly fliesai & p ﬁ—njﬁd HEIRIFE ¢ 72 P AAEEH L BH
ﬁ PR E' %—&j:?g -*ﬁ;ggﬁvf |

B) Intemational Committee of'the Red Cross is an example of non-profit-making
organization.

Rt 3 g £ 284 e

C) A non-profit-making organization’s cash in hand and cash in bank will be
summarized into the Receipts and Payments Account

EF s P33 R EZ SR EIVEISE FE e {rd A
pe

D) A non-profit-making organization should also need to adjust accruals and
prepayments in the Income and Expenditure Account
EEflesm iR g R AP 2 EHAD AR

11
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John bought an equipment of cash price of RM 36,000 from XYZ Company
through a hire purchase contract. A down payment of RM 2,000 was charged by
XYZ Company. The balance and the interest would be settled by 24 monthly
instalments and the interest charged was 6% per annum. Which of the following is
correct ?
John % G AR P& ¥ XYZ 2 @ P~ & B 2 5 RM 36,000 23K # - XYZ =
‘f’-@-‘]“»RM2,0007"x'f BGEE LA 24 B0 AL H > B 6%
SRR LY B8
A) The total hire purchase interest is RM 4,320
A8 5L 5 RM 4,320
B) The total hire purchase price is RM 38,080
A Hp A F 5 RM 38,080
C) The monthly hire purchase interest is RM 180
&1 @il A G RM 180
D) The total amount of instalments is RM 38,080 and the monthly instalment is
RM 1,587
A A iR S RM 38,080 m & # Z 4 i RM 1,587

Bike Manufacturing Company currently produces 3,750 bicycles per month. The

following data (per unit) apply for sales to regular customers:
hra g nE 243 T504Rp 780 TS EgRR A8 i h

AF
Direct materials & & L RM 63
Direct manufacturing labor & 3 4 1 12
Variable manufacturing overhead % # % 7 * 9

The total fixed manufacturing overhead per month is RM 52,500. The plant has

capacity for 6,000 bicycles. The company now is considering expanding

production to 5,000 bicycles based on the company’s expectation of future orders.

What is the cost per unit of producing 5,000 bicycles?

F B PHTEE T 5 RMS52,5000 8 3% 5% P A BB ¥ 24 A 6,000

iﬁiﬁl FH AN DTN ARTE DY 2P EE B ARF LAE
P4 A 50004mp 78 0 R Ack 2 A 5,000 4mp 72 0 Pl Edmp (72

r~E 507

A) RM 92.75 per bike

B) RM 98.00 per bike

C) RM 84.00 per bike

D) RM 94.50 per bike

12
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Equity is decreased by all of the following except
BEEFTARFH RS "f 1

A) issuance of shares % {7 3% &

B) expenses 7 *

C) dividends " 7|

D) net losses £ 4f

As of December 31, 2021, XYZ Company had assets of RM 10,500,000, share
capital of RM 3,525,000 and retained earnings of RM 4,750,000. Total liabilities
as of that date are

£1 2021 # 12 % 31 p > XYZ 2@ % F A 5 RM 10,500,000 » % ~ RM
3,525,000 » i#F & 4 RM 4,750,000 - B H 3§ F %

A) RM 11,725,000

B) RM 9,275,000

C) RM 2,225,000

D) RM 18,775,000

At the end of each accounting period, companies need to make closing entries. For

closing entries, which of the following is correct?

EFDREAF 27 FLEREASELSA S HHREELE TR Jﬁ I FE?

A) Net profit or net loss is transferred to capital account
AR gD T AK S

B) Closing inventory is counted, valued, recorded and then, transferred to
Trading account
BAFHRERTE TR T8 REHEI LIRS

C) Income and expense accounts are closed and transferred to capital account
il 3 ;.‘3 g S G SR T T AR S

D) Dividend account is closed and transferred to Profit and Loss account

SFIHE ¢ ¢ A D A £ R

13
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27. The following is manufacturing information of First Company for the year ended

28.

31 December, 2021.
™ 7| &_First Company # 2021 & chi:g F3 ¢

Cost of Materials Consumed 4= * J#l = & RM 78,575,000
Direct Labor ® £ % 1 6,250,000
Direct Expense ® 4% % * 1,500,000
Factory Overheads %% = A& 2,500,000
Opening Work-in-Progress # 4~ # %l & 25,125,000
Closing Work-in-Progress #f % % %l & 3,500,000

Finished goods were transferred to the Trading account at production cost plus
20%. Which of the following is Correct?
;“t,%\-r%g FHAZ X RS b 20% 4> FHEETREERS o T?l]f?'*ﬁﬁﬁi?
A) The prime cost is RM 78,575,000
i &A% RM 78,575,000
B) The production cost of finished goods at the market price or at a standard is
RM 132,540,000
TR RS A B A B2 S i S A L RM 132,540,000
C) Total direct cost is RM 7,750,000
EREASARE S RM 7,750,000
D) Total production cost is RM 86,325,000
B+ AL RM 86,325,000

An advertising company performed services on account for RM 42,000. This
transaction will
- REAFRERES RM 42,000 2 RAFEEE S > v E 2 d AL HEAR
BRIt E g
A) increase Cash and increase Service Revenue by RM 42,000
IR £ F PRIFJT O~ H 4 RM 42,000
B) increase Accounts Receivable and increase Service Revenue by RM 42,000
% Ttk 2k 2 PRI~ B 4 RM 42,000
C) decrease Accounts Payable but increase Cash by RM 42,000
i & R 2R > RM 42,000 0 T % 3R £ 3 4 RM 42,000
D) increase Cash but decrease Unearned Service Revenue by RM 42,000
i 7 & 3 4r RM 42,000 - 1 3¢ < PRA+4T > 5 > RM 42,000

14
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1°* NCKU Business Studies Competition 2022
Accounting & Bookkeeping

Jefferson has invested RM 450,000 in a privately held family corporation.

Recently, the corporation declare bankruptcy. What amount does Jefferson stand

to lose?

Jefferson L - B A 455 2 7OE L ¥ 0 B3 F £%F 5 RM 450,000 . 373%

aF g A A o ok Jefferson Lk g452 507

A) Zero. Rif 4

B) RM 225,000

C) Up to his total investment of RM 450,000. % # 3% F % RM 450,000 % + *2

D) The RM 450,000 plus any personal assets the creditors demand
HF IR 450,000 4+ Hois FAEA HH B AT A PR H G RE

Which of the following is TRUE? ~ 7] im '*Ff ZE?

A) Depreciation is a decrease in fair value of intangible assets
FEURRVT AL 2§ g

B) Depletion refers to the waste caused by the exploitation of natural resources
ITF A B p R TR AT S HRY

C) Depletion is the allocation of the cost of natural resources to expense
T Mg R RehS AT F

D) Amortization is the method used to allocate the cost of plant assets
B R SR T A AR 0 ok
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